
 

 

7.3 #j;jpuqfs; vOJtjw;fhf fzpj;jy;fis gad;gLj;jy; 
1.fPo;tUk; fzpj;jy;fis nra;f 
 
 

#j;jpuq;fs; Tpilfs; 
5+4*2^3  

2+3^2*3/2  

4*(3+2)/8+2  

2^5/(6-1^2)*5  

3+5(8/2^3)+5  

7+2/3^2(5*6+8-2)  

 
2. jug;gl;Ls;s tpupjhs; gFjpia gad;gLj;jp ml;ltidia epug;Gf 
 

 

 
 
 

#j;jpuq;fs; tpilfs; 
=A1+B3*C1  

=A2*C3^B2  

=C2/A2+D1  

=A3-B1*A1/C1  

=A2^B3/A2*(D1+B2)-C2  

 

rgufKt khfhzk; -thue;jg; ghlrhiy 

jfty; njhlu;ghly; njhopy;El;gk; 
juk; 10 

nkhopngau;g;G vk;.vd;.vg; E];fh Riykhdpah 

fy;yhup ffy;Yhup-fd;d 


